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F=x+y
F=x+y=xy+x'y+xy’'=>. (m3,m1,m2)
X= x(y+y')=xy+xy’
Y=y(x+x')=xy+x'y



JUia

Sl sl S80I (sla a5 (e dn ) F2 i) Ui
F2=AB+BC+A
AB(C+C')=ABC+ABC’
BC(A+A’)=ABC+A'BC
A(B+B’)=AB+AB’
AB(C+C')=ABC+ABC’
AB'(C+C')=AB'C+AB'C’
F2=ABC+ABC'+A'BC+AB'C'+AB'C
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F3= (X+Y)(Y+2)
X+Y= X+Y+ZZ'=(X+Y+Z).(X+Y+Z')
Y4+Z=Y+Z+XX'=(X+Y+Z).(X'+Y+Z)
F3=(X+Y+Z).(X+Y+Z').(X"+Y+2)
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FO=0
Fl=xy
F2=xy’
F3=x
F4=x"y
F5=y
F6=xy'+x'y
F7=x+y

F8=(x+y)’

FO=xy+x'y’
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F10=y’
F11=x+y’ 1 0 1 1 Xy Al -
F12=x' 1 1 0 0 X! not >
F13=x"+Y 1 1 0 1 YcX bl -

F14=(X.Y) 1 1 1 0 xTY  NAND Xﬂux-w
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F15=1 1 1 1 1 - sl -



